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RFAFRESTFRT o p
NN (1) BRI ESXBET 1% 25 35 45
T EEG L 5,332 7725 | 10,180 | 12,699
BIEEER 5,332 5,332 5,332 5,332
B2 EEER 2,393 2,393 2,393
BIEEER 2,455 2,455
BAEEER 2,519
X% % At 5 3wy i % 100,000%3%+4k & AP M B (AL EATAEERERT T F 2.20%)
(o ki AT AL G4 7 4 5%2 & AR A E Ao S aon g SHESM 7 (229%)2 B ]
X1 : 100,000*3% + (97,000¥1.05)*2.29% =3,000+2,332=5,332
X2 : ((97,000*1.05)-2,332)*1.05%2.29% =99,518*1.05*2.29%=2,393
X3 : ((99,518*1.05)-2,393)*1.05%2.29% =102,101*1.05*2.29%=2,455
X4 : ((102,101*1.05)-2,455)*1.05*2.29% =104,751*1.05*2.29%=2,519
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NN (L) ERERESYRET 1% & 3F 45
S EEG LT 6,455 8962 | 11,524 | 13,042
BIEEER 6,455 3,455 3,455 3,455
B2 EEER 5,508 3,508 3,508
BIEEER 4,562 3,562
BAEEER 2,518
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100,000%1. 05)*3 29% +100,000%3%(CDSC) = 3,455+3,000 = 6,455

(100,000*1.05)-3,455)*1.05*3.29%+100,000*2%(CDSC)=101,546*1.05*3.29%+100,000*2%=3,508+2,000 = 5,508

(101,546*1.05)-3,508)*1.05*3.29%+100,000*1%(CDSC)=103,115*1.05+3.29% +100,000¥1% =3,562+1,000 =4,562

(103,115*1.05)-3,562)*1.05*2.29%=(104,709*1.05)* 2.29% =2,518
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